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• 1st order circuits: include one C or one L.
◦ vC or iL never change abruptly. The output, y, is not necessarily

continuous unless it equals vC .

• Circuit time constant: τ = RThC or L
RTh

◦ RTh is the Thévenin resistance seen by C or L.
◦ Same τ for all voltages and currents.

• Output = Steady State + Transient
◦ Steady State: use nodal/Phasor analysis when input is piecewise

constant or piecewise sinusoidal. The steady state has the same
frequency as the input signal.

◦ Transient: Find vC(0−) or iL(0−): unchanged at t = 0+
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Amplitude never complex, never depends on t.
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See Hayt Ch 8 or Irwin Ch 7.
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